
Passage of unchanged drug through a 
membrane 

• A drug passes through membranes more readily if it 

is unchanged as either weak acids or weak bases 

• The effective concentration of the permeable form 

of each drug at its absorption site is determined by 

the relative concentrations of the charged and 

uncharged forms 

• The ratio between the two forms is determined by 

the pH at the site of absorption and by its pka value 



 
 
 

 

Determination of how much drug will be 
found on either side of a membrane 

Henderson-Hasselbalch equation: 

pH = pka + log [non-protonated species] 
[protonated species] 

 
 

For acids: pH = pka + log 
[A-] 

[HA] 
 
 

For bases: pH = pka + log 
 [B] 
[BH+] 

 
 

 

• The equation is useful in determining how much 
drug will be found on either side of a membrane that 
separates two compartments that differ in pH 



 



 



 

 

 

 

Ion Trapping 

 
At steady state: 

 

• An acidic drug will accumulate on the more basic 

side of the membrane. 

• A basic drug will accumulate on the more acid side 

of the membrane. 

• The phenomenon has obvious implications for the 

absorption and excretion of drugs 
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